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Alue( X -A, XA)) = 1-a.

(g,ﬁ)z(%—zm%, >?+za,z%) (& )

(i—tam(n—l)in, >?+ta,z(n—1>in> (& )

7.1.1 1.15kg.
9 99.3, 98.7, 100.5, 101.2, 98.3, 99.7, 99.5,
102.1, 100.5 kg a =0.05

— o - - (o2
ﬁ =X—=2Zy05 ﬁ = 9923, H=X+1Zjus ﬁ =100.73.

p 95% (99.23, 100.73)
2) o’ l-a

S0 220, 306 | 0

((N=D)S?1 22,00, (V=DS* I 2L, M)| ¢ w0 )

[ ]

7.1.2 [€)) 0.95
@ , u 0.95
©) 4 100 , o’

“) 7R o’

(2) 5§ =1.2122 tb_025(8) = 2.3060
S
Jn
p 95% (99.0482, 100.9118)
3) 1005 (9)=19.023, y’.om (9)=2.700
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SO 220, 306 )

(0.6182, 4.3556)
@) ((n DS 71 un(n 1), (1 DS/ x5 an(n 1)).

s%=1.2122 %, Zo.05(8)=2.180, 40.95(8)=17.535.
0.6709, 5.3924).
7.1.3* (00-3-11[8]) 0.50, 1.25, 0.80, 2.00 X
Y=1In X N (u, 1)-
@ X EX( EX b);
@ u 0.95 ;
©)) b 0.95

u/2 0.98, 0.98 (e—0.48’ e1.48)

7.1.4 X, X%, X N (u, 0.9%) n ) p o 0.95
1.0, n ?
Z 0.05=1.64 Z 0.05=1.96
u 0.95
— (o)
(X - X + 2,0, —%)
0025 0.025
f Jn
o, 0.8 0.8
X7 ooe —e . , N 2XZ o Xx— =2x1.96x— =3.136 % —Sl
0.025 \/ﬁ 0.025 \/’ \/’ \/’
3.136°~ 9.8, n 10.
7.1.5 (2005-3-13[4]) N (u, &) u o
; 16 X =20 (cm) s=1(cm) wu
0.90
A (20—%t0.05(16), 20+%t0_05(16)).
®) (20_%to,1(16) , 20+%to.1(16))-
© (20—%t0.05(15) , 20+%t0_05(15)).
(0)) (20_%'[0_1(15), 20+%t0.1(15))- C
2.
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nl n2
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X-Y+z , |2+
nl n2
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7 = ()z_Y_)_(:u‘i_zuz) - N(O, 1)

\/l 1
o=+
Ir]l n2

_1)]2
ke= DS ey, oy 2

(o2

K K Cochran K2+ K>~ z%(n,+n,-2)
Z

T ~t(n,+n,-2)

) \/(Klz + Kzz)/(nl +n, _2)
(KZ+K,2)I(n+n,-2)=S 2/ o2,

2 (nl _1)812 + (nz _1)822
n+n,—2 ’

=(n1+n2—2)‘{i(xi—)?)2+i(Yi—\7)2 |

(X=Y)= (i, — 1)

S

w

~t(n,+n,-2).

My [y

[)?—Vita,z(nﬁnz -2)S,, i+iJ
n n

1 2

©) o1, 67 , ()
2) cilc
S?lo/
—+ 1 _~F(n -1n, -1,
822/022 ( 1 2 )

S?/o?
l-a= P[Fla,z(n1 -Ln,-1)< 812/ ~<F,,(n,-1n, —1)]

210,

o1/ o)

S’22 Fa/2(n1_1’ n, _1)’ S22 Fl—alz(nl_l' n, _1)
S; 1 S?
= _12 ' _lz'Fa/z(nz -1 n-1)
Sz Fa/Z(nl_l’ n, _1) Sz
1/ E-a/z(ﬂi—l, /72—1):/5(1/2(/72—1, /71—1)
f=3.89/4.02 , Fp(m 1, nn 1)= Foos(7, 7) = 4.99,
(3.89/4.02)/4.99=0.1939, (3.89/4.02)4.99 = 4.8286,
A 0.95 = (0.1939, 4.8286)
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[ ]
7.1.6 , , 10 ,
x=500(m/s), s1= 1.10(m/s), 20
x%=496(/s), s, = 1.20(n/s).
M1 —HL2 0.95

tos(28) = 2.0484. s7 =(9x1.10° +19x1.20%)/28

(E_Yzistho.ozs(za %"‘2_10]
(3.07, 4.93).
7.1.7 ) ) ,

; m=8 , x=91.73,
5°=3.89. m=8 . Xx=93.75,
$=4.02. , , My —p2

0.95
X =X, — 05 (14)8,, é"‘%
=-2.02-1.7613x3.96x0.5=5.5074
7.1.8 A B ) A 16
5°=0.34 (mf); B 13 5°=0.29(mif) .
. A B ~N(u, 61, N(e, 02,
i, oi (f=1,2) ; oilo? 0.90
(0'34>< - 0'34><2.38j, (0.45, 2.79).
0.29 259 0.29
87.2
7.2.1
1.
1— )
() :
2 1.15kg.
9 kg
99.3, 98.7, 100.5, 101.2, 98.3, 99.7, 99.5, 102.1, 100.5.
100kg 95%
a = 0.05
He w100 W . PGY¥¢%>c)=a
Ho -4 100.
o U (-0,-Zy2) (Zyr2, ©).
Zo.os =1.96 . n=19, o=1.15,
x=(99.3 +98.7 +100.5 +101.2 +98.3 +99.7 +99.5 +102.1 +100.5) /9 = 899.8 / 9
= 99.98 ,
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Ul |22 = 0.0522 <1.96 = 7,5

oln
Ho.
1.
1) Ho H Ho
2 Y_/'lo
a u . U= ~N(0,1
(€)) o G/\/ﬁ ( )

(_001 _ZOL/Z) (ZOL/21 OO)

) o o
Ho B e Ry B Ve Ty el

2 . _ X—/JO - _
® o t . H T 7/ t(n-1) .
D (m0,-Le(n-1))  (Le(n-1), «)
HO
[—oo u —t (n—l)ij [,u +1 (n—l)i ooj
’ (0] al2 \/ﬁ 0 al?2 \/ﬁ’
2) H o’=o0
n X 2
@ n : o -Kr?::Z[—‘ ”jv/(n)
i=1 O-o
K DO, 7 w(m)  Lar(), ) .
® oo
K O, 11 we(n 1)) Lor(n 1), ®).
3.
4.
7.2.2
[ ]
7.2.1 X ~N (o, o) oo =0.23.
X' ~N(u, 6°). 10 0.33.
a = 0.05
1) o 2) o’
1) H: o’ o 0.2%
u K

2. ~-1)s*  (10-1)x0.33

> . =18.527.
o, 0.23

© 22,,(0-1) (x2,,(n-1),0) .

225:(9)=19.023  42...(9)=2.700.
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K=18.527 (0, 2.700)
y
0.025
yd 0.025
0.025
2 B 2 _ > _
Y 0.975(9)=2.700 Y 005(9)=16.919 4\ Y 005(9)=19.023
K’=18.527
(0
(19.023, ) Ho.
a= 0.10 V(N 1)=x%0.05(9) =16.919 < 18.527. Ho
2)  He: o’<al 0.23
Hi: o > O'g .
OCa(n -1), +x). voos( )= 16.919
Va2 _ 2
K2 o (n l)s :(10 1)><;).33 18577
o 0.23
K= 18.527 > 16.919 = y%0s( ). Ho o’
7.2.2
100 / >
10
| 1 2 3 4 5 6 7 8 9 10
| 77 72 7% 74 77 18 16 15 16 77
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(€D 1 .4 .2 .3 .4 4 .0 .5 .7 .3
79 81 77 79 80 79 79 77 80 82

@) 1 .0 .3 1 .0 .1 1 .3 .2 1

a = 0.05.
B o= Ao < po. H% oi'=o)
F = s°/5°=3.325 / 2.225 =~1.4944. Fo.2s(9, 9)= 4.03, Foes(9, 9) =
1/Fo.0s(9, 9)= 1/4.03 ~ 0.2481. ,
61'= 67 Ho p: = po Hi i < po-

( oo, t,(nitn2 2)).

o 2_(n-Ds’+(n,~Ds’ 3325+2225

w =2.775.
n+n,—2
. Xl—y - _ 76.23—719.43:L 4905
Sy | —+— N2T75—+—
“\'n 10 10
Dt (mt m-2) = t,(18) =1.7341.
t = £.s(18), H H
7.2.3 )
A ‘
B ‘

’ b B A b 7

, B |,uA—,uB|25 A

) ( @ =0.01)?
Ho  [rn—11g]25
7.2.4
A 0.1 0.1 0.1 0.1 0.1 0.1
: 40 38 43 42 44 37
X
B 0.1 0.1 0.1 0.1 0.1 0.1
: 35 40 42 36 38 40
Y
~N (/,11, o 12), N (ﬂz, o 22)
1 a=0.05 H,:0=0.H,:0 %0}
2) 1) a=0.06 Hy:m=u, H 1+u,.

Zogs = 1.64, Zoops = 1.96
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n =8 n=9 n=28 n=29

272(n) 272(n) t,(n)

0=0.95 (2.733 3.325 |0=0.05 [15.507 16.919 |a=0.05 1.8595 1.8331
0=0.975 (2.180 2.70 |a=0.025 |17.535 19.023 |a=0.025 2.3060 2.2622

1 7=1.108, Hoiof =07 2 |t]=1.3929, H," 1 =u,
7.2.3
7.2.5 X U[0,8] X, %, X% X
H,:0=c, H:0>c c>0 M=r1n.axXi
{M>m_} a(0<a<l)
1
m,=c(l-a)"
a=P(M>m) M=r1n.axXi
1 X>6
n Xn
Foy () =(F(x0))" = (5) xe[0,0]
0 x<0
m o 0<m,<¢6

a=PM>m,) 1-P(M gma)zl_(%)n
m 1
H azl—(sz m,=cl—a)"
P(|U|>Za/2|HO tl’ue):a, Ho
a a P(C H |H )

X ~NQa, &), m # w , X ~ N(/Jl,O'Z/n)
B
ﬂ:P(|U|<Za/2 |ﬂ:/“1¢/‘0)

O v (o2
:P(ﬂo_za/2ﬁ< X </uo+za/2ﬁ |ﬂ=ﬂl¢ﬂj

Ho+C 1 (X—,Ul)z
= [ o expl XA gy
I e S
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B=P(Ulz,, |u=mwu#u)

X =+ =1

=P - ° |z

[l G/ [n | aIZJ
Xty th—Hy

=P|-z,,< <z
( al?2 O'/\/ﬁ O'/\/ﬁ aIZ]
o~ Hy = H
—p|z, BT @, AT
[a/Z O'/\/HJ [ al?2 G/\/HJ
6

7.2. Mu,3.6%),
u Ho: p =68, Ho: p=68, p =70.
X -4
u- , U=—~N(0,1.
oln

(-©,67) (69, ).

a=P(U >z |H, )

P(X <67 |[H, )+ P(X >69 |H_ )

Q

2[1 - @ (1.67)] ~ 2(1 - 0.9525 ) = 0.095
|99 .98 — 100

= 0.0522
1.15 / /9

P( H |H )=P(67 <X <69 |u=70)
P m—7o<‘f—&3<69—m
36/~/36 3.6/~/36 3.6/-/36

P —5<JLL§L<—LW
36

3.6/~
® (~1.67) ~ 0.0475
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PU <-1.67)+P(U >1.67)=d(-1.67)+1- & (1.67)
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